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EH g (BTN ED B
AREOL mg/L TEH | TR | THRE | THRY 0.01TLATF
£IT Y mg/L | FEH | TR | TR | TRl BmEhizNl &
Eia] mg/L TEEH | TR | THRE | THRY 0.01TLTF
Nl B L mg/L | FEE [ FigH | FEd | T 0.05LLF
S mg/L | T | TR | FHRE | Fgd 0.01LLF
KR mg/L | T | TR | FHRE | Fgd 0. 000554 F
T ILFILIKER mg/L | FEE | FRE | TRE | TRb BHEhBWI &
PCB mg/L | T | TR | TR | TRl B EhizNI L
coroorsay mg/L | T | TR | TR | TRl 0.02LLF
mig{b xR mg/L TEH | THE | THRE | THRY 0.002LLF
1, 2=Y900xT4ay mg/L TEEH | THE | THRE | THRY 0.004LLTF
1, 1—=o90RIFLY mg/L | FRE | FRE | FRE | FRE 0.02LLF
YRA—1, 2=24900IFLY| mg/L | TRYE | Y | FRE | Frd 0.04LLTF
1, 1, 1—kYs0RITHY mg/L | FEE | FRE | TRE | TR 1T
1, 1, 2—rysBERIAY mg/L THEH | THE | THRE | THRYE 0.006 LA
ckysooTFLY mg/L TEH | THE | THRE | TR 0.03LLF
Thk>2BBIFLY mg/L THEH | THE | THRE | THRYE 0.01LLF
1, 3—ysoo7aoRy mg/L | FRE | FRE | FRE | F&H 0.002LLF
FI5 L mg/L | FEE | FRE | TRE | TR 0.006 LT
DR mg/L | T | gl | FRE [ TR 0.003LLF
FARALTD mg/L | FRE | FRE | FRYE | FiaH 0.02LLF
¥y mg/L T | T | THRE | TR 0.01LLF
LY mg/L THEH | T | THRE | TR 0.01LLF
HEMERRUEHEBREER mg/L 2.4 1.7 2.6 2.5 10LLF
PAEA mg/L 0.30 THRE | TRE | THRHE 0.8UUTF
RO%E mg/L | 0.09 0.06 TR | TRE TUTF




T2 1 EEALAKEEKENELREE
(2) HEEBREORSICETIIEREEEIER
7
B - B0Ds | Moz | SSur | TNs | 7Pos | D07 | ABEER |
mEH AL | ™ %2 %3 4 %5 %6 %7
KBE  |WEREE|AEA[ of (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (MPN/100mL)
68| 73| 1.1 - 28.0 | - = 3.5 110, 000
. 8B| 71.4| 64| - 280 | - = 2.1 330, 000
THH Al 76| 51| - 00| - = 8.8 70, 000
28] 75| 180 - 210 | - = 46 240, 000
68| 7.3 | 44| - 1m0 - = 2.7 170, 000
o 8B 15| 29| - 70| - = 1.6 110, 000
RFRAKES R Al 7.4 47| - 6.0 - = 43 140, 000
28] 1.4 10| - 120 - = ) 170, 000
68| 15| 52| - 70| - = 5.1 130, 000
- 8A| 1.6 | 44| - 80| - = 3.6 790, 000
Al 77| 32| - 50| - = 5.0 70, 000
28] 78] 61| - 50| - = 6.5 92, 000
68| 75| 50 1| 80| - = 8.1 7,900
- 8A| 7.8| 29 1] 300 - = 7.0 24, 000
, ,
B — T 77 26 1 50| - = 8.3 7,000
28] 8.1 2.4 1 50| - = 13.0 200
%
e 68| 1.6| 58 1] 100 - = 8.0 22,000
" 8A| 7.7| 3.4 1| 450 - = 6.8 13, 000
| ,
BARKE— BT 7T 34 I 20| - = 9.0 17,000
28] 8.1 3.6 1] 130 - = 12.0 200
68| 71.7] 40| - 80| - = 7.4 7,900
8B 78| 20| - 60| - = 6.6 11,000
#l FNXE —7 577 13| - 50| - = 6.8 94, 000
28] 8.2 17| - 20| - = 10.0 49
68| 7.3] 3.1] - 20| - = 6.6 13,000
- 8A| 7.4 26| - 120] - = 4.9 240, 000
FREE TR 73 [ a3 - 20| - . 6.3 33,000
- 28] 73| 46| - 50| - = 6.2 7,000
B 11
68| 1.4 27| - 80| - = 6.7 46, 000
8A] 74| 35| - 6.0 - = 1.4 330, 000
i 3y
ol 118 7.4 4.0 - 3.0 - - 6.0 13, 000
28] 75| 61| - 70| - = 6.0 35. 000
68| 7.4 41| - 200 - = 5.9 24, 000
- 8A| 7.6 23] - 200 | - = 7.8 79, 000
" Al 74| 1.2] - 50| - = 88 22,000
" 28] 1.5 17| - 50| - = 11.0 79, 000
8 68| 7.4 23] - 130 - = 6.6 17, 000
s 8A| 75| 26| - 210 | - = 6.8 49, 000
LEke Al 74| 1.6] - 6.0 - = 8.6 14, 000
28] 1.4 22| - 20| - = 10.0 7,900
68| 7.4| 66 <1 10.0] - = 7.7 7,000
E 8A| 7.5| 2.0 <1 80| - = 7.0 70, 000
= 1Al 7.5 19 <1 40| - = 8.0 13, 000
o 28] 7.4 1.8 <1 30| - = 10.0 780
el 6 A 7.5 4.5 - 18.0 - - 6.8 24,000
o 8B 82| 21| - 120] - = 10.0 49, 000
" Al 7.6 24| - 30| - = 9.6 7,900
28] 7.6 21| - 30| - = 12.0 1,700
68| 7.4 | 43 1| 80| - = 6.6 22,000
” 8A| 7.6 | 2.0 <1 180 - = 5.1 33, 000
AR e 33 <1 50| - = 6.2 110, 000
28] 7.5] 16.0 1| 8.0 - = 45 220, 000
Kl 6B 7.4 | 41 <1 80| - = 6.9 11, 000
8A| 7.7| 2.8 1| 140 - = 5.4 130, 000
KW —H BT 77 54 <1 70| - = 7.2 17, 000
28] 7.7] 19.0 1] 2300 - = 7.9 70, 000
68| 7.4 40| - 00| - = 7.4 24, 000
8A| 7.8 25| - 9.0 - = 5.9 33, 000
MR a7 a1 - 6.0 - = 75 14, 000
28] 7.9 27| - 40| - = 10.0 2,300
AN 68| 75| 1.7] - 9.0 - = 7.9 33, 000
. 8A| 7.8] 28] - 100 - = 5.1 110, 000
RE® g 77 44 = 6.0 - = 6.6 110, 000
28] 78] 85| - 50| - = 7.6 35. 000
EAE 82 ] 100 230 |- - 13.0 790, 000
B/ME 7.3 12| - 7 - : 1.4 49
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COD.:.g n—H.;.3 SS.:.4 T_N.:.5 T_P.:.G DO.:.7 xﬂ%%ﬁﬁ
Kii® | BEEAL|BEA| PHy - a a a = i
(mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (MPN/100mL)
6H 7.3 20.0 - 21.0 4.2 0.48 16.0 2,200
Rubi O
1A 1.5 8.3 - 18.0 1.9 0.10 11.0 2,200
6H 9.5 12.0 = 27.0 1.4 0.13 14.0 790
B/ 0OE B O
1A 7.9 21.0 = 35.0 3.1 0.18 10.0 2,100
6H 1.7 13.0 - 18.0 2.0 0.34 11.0 2,400
TAE PO
1A 7.3 9.7 - 11.0 1.5 0.17 6.9 7,900
6H 7.0 6.7 = 16.0 3.2 0.25 1.3 70, 000
tRiF B PO
1A 1.2 3.5 = 9.0 3.9 0.08 6.7 14, 000
6H 10.3 47.0 - 84.0 3.1 0.27 12.0 330
FXith PO
1A 9.5 24.0 - 33.0 1.7 0.13 11.0 3,500
RAE 10.3 47.0 = 84.0 4.2 0.48 16.0 70, 000
=®/ME 7.0 3B = 9.0 1.4 0.08 1.3 330
X1 pH - KEMVEE
%2 BOD -+ AMMEFHBREREE
X3 n-H - A Y EE
X4 SS - RFEWMEE
%5 T-N - REXRSHE
X6 T-P - BYASEE
X7 DO - AEBMRSHE
%8 COD --- {LEMBFREREE




